OP_return

returnFX= Addr68k_from_LADDR(STK_OFFSET | (curr_alink -11) )

TCUrT_annk -1) I=Currentr X->ClnKk < TIN(020)
e
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NEXIGBK = AJAreBK_trom_LADDR (STR_OFFSET [re urnkX->nextblock) I
curren = rooK_from urren ->blin

nex =

TIN(020)
: — - |=f
(nextB8k = Var) (currentBF->usecnt) =0 <

dummyBF = CurrentFX-2 |

(Treept = dummyBF )
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| freeptr = IVar |
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goto RTN2

PVar =retumFX+FRAMESIZE |

returnFX->incall=0 I
returnFX
incall CurrentStackP TR = NexIo8Kk-2 |

[TopOfStack = *((LispPTR *)CurrentStackPTR)

CurrentStackPTR-- I
(curr_alink =

(CurrentFX PC - retumFX->pc |
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slowRet

OP_apply()

| returnFX->nopush=0 |

urrentstacl = nexi -

opOfStack = *((LispPTR *)CurrentStackPTR)

returnFX
->nopush

CurrentStackPTR--

| CurrentStackPTR = next68k-1

FastRetCALL I

FastRet CurrentStackPTR=lvar-1

PVar=Addr68k_from_LADDR(STK_OFFSET| CurrentFX->alink)

FastRetCALL |




